Gemeinsamen Verteilung von b und y
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= ply,b) = p(y|b)p(b)
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Es ist
y-XB8\[( VvV zG\ '/y-XB
b GZ G b
@3 (y-XB8Y R ~-R'z y—Xg3
- b -ZR' G'+ZR'z b
= (y—-XB-Zb)R *y-XB-2Zb)+bG'b

mit der Schur-Komplement-Formel

A B\ ' (A—BD'C)? ~A'B(D- CA'B)!
( C D ) - ( -D'c(A-BD'C)! (D-CA'B)! ) (2)

und der Woodbury-Formel
(D-CA'B)'=D'+D'C(A-BD'C)'BD™. (3)
Hier:

(A-BD'C)! = (V-2ZGG'GZ)'=R1,
(D-CA B! = G '+G'GZR'zGG'=G6'+ZR 'z
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Es folgt:
1
p(yab) = v 7G 1/2'
n 2
(2rr)(n+a)/ (GZ, G )
1(y-XB\[( V zZG\ '[y-Xp
&P T2 b GZ G b
und daher

(3) (%) (a2 &)
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